[ectmwe 15
1) /Q’opcrf/'fs o/ c'noéuw/ covers
2) Litterd deformations of CLo]
fets: [CM] Sec. %1 [/1]

10) Feminoler 14 joqu

We choose Lovi & /am&éc Sa%}’aa/os [Pl as well
25 an /- e7uu/5wanlz cover o/ a nitpotent orbré 0 <

Set )Q-'=S}aec f[@] anol @Jg 0 OZC”[{‘E

4o patind map, it's o moment map. Set 3 [[/[[[J)*

Lonsider Hls Wl’l%} = (x /ﬂ(x g/ﬂ) 4 [« Jﬂ&)édff
Hoe P=/ XU k= Z/a[[/) /4/0012‘ A s a Porbt of
(44,x), he & under He action p. (4 4,x)= /{o'ff.a(, Hp)e). Here
o Pl Note Yot (q/k)* — [ " d oy, is Peguivarint
s0 [lgn)laly -peoesS c @/A)*x/g is P-stable, so Bhe action is
well-define d Tl veriet y 5 camvies Y /;%m'nj STuctures:

- A ﬂm;pézm =3, [A ]Ho( | = H&) [t Vﬁ e

//c/ o/J(E i
T 5



A Homilonian (- action Cfl%j [A}QX)]: %4/ (4 x)]
W. moment Mep f{ >0{ ﬁﬂ*: ﬁ[ﬂ,&,x)l):ﬁz_

We hawe Seen [ﬁm in Secl 0//&75) Yot ench, 3(/
46{5 an open [ﬂrf/'f , @X , W//'C/A 5 a [16741[1/5&/52;41‘ Cover 0/
an bt In ﬂ* Whose mz‘m/uﬁ ﬂuxz‘ P

:De/in,{/bn; /%[ z‘[L /'na[ucea/ cover /mm /Z @,){ ) we mean 0;
The potetion is Ind f[ 0:,)( ) (if J=0 , We a/}’O/o it from motetion)

Hevers how we 70,0? induced varieties/covers %o Sﬁ/«%
Veriou's /uesf[ans 2l Covers:
Wl see tht for each) Equiveriant COver 0’ of 2
Coaoy oint orbyt im j']* A Cfui{/m’anz‘ cover Ov of 2 /7/'@01‘@21
orbit st D] is a Hlered [5rss0n a/w/o/mu‘/bﬁ o (L 5]
7Zis wtl be done i 'L%'s lectuwe
s Well see that we can construt a Q-;éﬁforz‘a/ fermi-
neli zztion of Sﬂec CLDT [iher (/Dv /5 an ffm'z/m"cwz‘ cover
“o/ a /7/’?07{0/2[ ot ) as an Zm&«w/ Va/’[f/’é’y_ 7%’: witl be
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done. in 'L/Ze pxt c‘oaf& of Coctores
« Tlon werll use inducbon % construct /aaaufz’ad/om

of C[O]

77) Iﬂo/epena/aﬂcz of P

_Eoo/f/ 02,)( ) iy /'n/yma(mzé o H, choice of /,D Lemma. 41
in (/1] Tl 4 ww/e//?zhf ﬁ/ﬁolzﬁﬂl bt in q s /M/(faw
dent of P i3 /orayea/ in [(M] Section 71

Example: Lot (= SL, lp 4o cojuection, porebolic. subgroups
are Su @rau/ps of flocx wpper z‘n‘anju,(a/ metries and so correspond
% cam/aash?fans =t Lot P de 4 co//zs/oom/zh} parebolic £
T be £ Car;’e,yaam//’ndt /amf/‘z‘/on: 75 in e decrea Sivg ovder ke
Q=103 so Bt =T (LP)
: Show that
1) in p= O_f , the cosure of orbit w. Torden ?/c <’

Hint: use thet gim i pa= don T"(0P) & chect dm T)- i O,
Thon Hor @ Jorden M TeQe, fnd ;uzs,ms EVEVEN
Sl =loF st codm Vo=nrang & Vo<V, deduce Jeimp.
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Z) j = @rf. /L//m[-' use z%ej flc CMZ‘/’M’%@/S a/ ﬁ/@ofmf
Aements in Pl {, are connected

12) Wmsfz//'w'fg of induction

Jake few Swéfmc{/as L<Mc§ S if Feo is s/simpte 24
st. L=Z5), thn zelch = /= Z,6). T fillows ot
5(n)e3(L). Usin YA M@ fom of 9 £o //Mf,,d@ [~/
" =, we get (/[ ]) 9[[/[[[])

Jemma: The induction is Pensity e, e for

Je (w/lnm1)(< (LL/L0)") we Aowe
L4 (4, )) = D, (B4"(3),])

foof:
flee pandotic sbpops 4G . Lovi M 5o Hhet Q-Ml/
£ PM w toui L sothet P=/wtd] Thn P=Pxll s
a /a/ﬂ/oﬁc m w Lwi L. F @Ym/oé ot
( xgg)} /=] ;;55) ( Sl.ﬁw we tare

d(?k
*z( ooo



Lt 7= Dodyy (£))= H5" [x)e (/<) | g, =
e Z”OZM(/-Z—”JLM/OZ))X) is £l gpen (-orbit i
(T ) (1)
_Zﬂa(u.o/ _Z;)o( /0)/5 flLO/ﬂenMa/o/lf i Y The
(T*[f/l/ @ )//M is an open (- Stadll SM/VM(%} of Ind, ‘x,2)
£01) so M{(Z \) i e gpen Cordit in (1)
/4/0/)71‘ m/,u [)\)//14 5: [(j 3’4 );] h/JE( /E(/b) 46/’4
/ge[ﬁn/ﬁ) Xe/{/ s.t X/{w /3+) 137; Jﬁ&) whe 1@ we
/A/Mzzng {jyéﬁx] W. [jl/ "m, mhu' Y 4@ bl w (/eV/
meM ue U lel We con assume h=1 and Hlon e
507/‘@5@71111'0)7 /S@ P-action {j,):’&x]:[gu-/f‘)’ /X/ 43/ fx]/ aeC{
ZEi, WAJ& 7,([& (0/404'11/0/) becomes /B=X/ﬁ;) £ X/[i]ﬂ&)’l"];
/915 /fh/h) = [e [ﬂ/h> [@/p) A /Som0}77ﬂ/fsm o/ /7)
wo s o u/w{} Zjd//ng H[(}}Xx] T /c’fuu/a
nent ([ () s on Y 15t %w‘far) £ intertwines He moment

M@S [ 5#4 e ju/en Z& j , K So 15 an /JomO/f//:m 0/ covers. [J

13) /%Wﬂ/@afenz‘ covers ave induad
K tums aut {/Mf el/eetl cover of « /70/7~/7/'¢wfwz‘ Vbt

—
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i induced fom a cover of 2 ﬂ/‘éwﬂzeﬂl[ ot in & Levi

Lk D e a ﬂoﬂ-ﬂ/‘éa%caz‘ bt m \7* ¥ g wid 5 Q0
be o K-zyaiva)’[mz‘ cover.  Jaxe L =Z¢(§:) Sov ze Q' 44
Q) to be te nipstest ot m [ w 0= ((5+Q), 50 Sec 15
in Lec 5. Set 0~‘=$’"/§+@) Hhis s an Z-e/oa[m/szlz
cover o/ viz x#—:}ﬁ&) = ) 5.

//e Jure @ netared iso (x50, — G (pote Yot

(<0, — O, s follws Hom He asgument in Sec 13, Lec S)

- We hove o P e/awl/mzwz‘ /Smoy//sm
[@/ﬁ)*xg dly = )75, 5 = Pxé@v
/comﬁare to lase 1 iy Sec 22 of Lectd) j/r/&/m;,
Ddf(3,5) =0

17

Z ) ﬁ&‘ma/ a/w[ormaifzom of @[ﬁ]
Fix Z/éz w. ﬂ/a/f(@:)'-'ﬁ_ fex a perabolic Stebghogy P
w. P=/&U PAck sez & set )i (EXX} >§/ Fecall that
Cn % (Sec. 23 of Lec 19). B restrits 4 ey
?(0h01)= [} (i £x)]
- Nite bt YV is C:stakble. Smee Yo C* & (actions
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on ) commute e m'?uz Qpen okt d cy 5 Costabb.

54001/ Z%/‘L[ ‘/‘/4. 2 g{ (s C Gfaz chan’é h//(//e
ﬁqﬂ Ve fo( fo( :Dea/uce fn/eil f[a f &ction on @

mf}’oaé/cz/ d,/ouc Ca/nwé; h//l% fé ot jgbm Sec 12 0/ Lec *

7;4 Pa,ﬂ[wa,/a/ (E[y} f[@] s /005)1[/)/04} jmo/t
Lot z & Z(/e coordinete on CY z2(()=1. Wt con view
Z as Qp/ej,z, /omojeneoas &/emenf n C[/lg:x] 1//0\ fu{{{qc/c_
Ubsewe Hhet 0., has 1o 2ero Aisors //c /. is iveduill.
2 o

ﬁ/p/ws[zz/on: //) We hove f[XEﬂ/@) = C[D] as /30/140704/'5»;
o/ jm deol  1Bis son a/%u@ms.
Z) A/c have £[}5:XJ/(Z-/) > (E[@l 6/'550/7 Lé’f/gm /50,

/9/’007[-' ’/) We fave f[ v1 =l 07]/ jVQo/eo/ 135 som %%ra /50,
Mz Can View 0}, as q /naof/eﬂf 0/ 0 -~ More /0}@&/5 we
4&//& [ SES 0 — 0),@( 2 0),@(—> @), —0 G ﬁﬂj exct

SWC&
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0 Clig 1 5 (L) > A—H(G, ) S H G, )~ H(B)
_Z:f’s €/40&94 to S/oh/ z%d H 7/ 0),”)%. /%/ /Dl’o/a’n in Sec X
oA Lee 7 H(0,)=0 S
2H(0,)-H(G,) (1)
Oy He obher foad, H'( 69},”) s a jenm/fco/ modiks
over f[ng. 7Z/‘S is b ey IJ/)’o/ey'Ll/Ve over Ao affme ﬂ*
(Exeruse in Sec 21 of Zec 74)/ Bow we can use Theovem 51
in Sec 3 of /%rfw/oma). The f@” -achion of H 1/0y a)fflﬂzors
f/muJA f[g*] — [ %:xj , 50 H 1/0),@() /s 75)4)'% je//mz/fe/
over CLyT as well
Moreaver, H 1/@,@() 5 2 g/ Aeod Modity;
o acton C X/J, >a/:)( j/z/cs yise to d:xn ) 1/0),0( ). Ttos retionel
>¢E ¢ /P s a O invariant d{////?ﬁ MO//’M/'SM/ S0 }th can fe
C’OVe/co/ § f f)‘lzﬂjé 0/2’/4 4;441455 > fxn ff/mg 0/ Cvfp/
compfex /;z,z‘/on%,
7_ZL Mj&ém (C[%fj is 7/20- j/ao/eo/: o/eg z2-2 £ f[}g:x]/@?)
<> (E[Vj/ h//;'o/ (s Z;o-jmo/eo/_ So {/cjmo/mé, o /7/1[07&) I's

boun ded #om below. And /7) = H 1{ O[X)-'O. This proves (1)
Z)-’ / Hont: write 2 similar exact Se/mance) O
H



Thx 4o (2), th Jgofi’a— (E[&]: CC[@:(] inkerits 2 AEE-

radtion Hom He j}/ao/mj, on f[}fwj, We Ceave i€ as an
to /Voaé(ce, a g ded [oisson isomonphism  CLi] =

gr CLYT (use 1) of Bopn ~and compare % Exercise i
Sec 72 of Lec ). S ffg(:# GIOZ(] becomes a 75&‘(’/@/
Poisson deformation of CLO] Thk £ Sec 13, e see thet
¥ 0" a5 in tlore, €L hes 2 Abbrcbon maeing e filterdd
fBisson detormetion for suitable €[]



